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QUESTION 1

You deployed a custom application on AWS that uses MongoDB as the backend. The database files of MongoDB reside
on an iSCSI volume hosted on NetApp Cloud Volumes ONTAP in high availability mode. 

In this scenario, what is required to provide fault tolerance for applications when one of the storage nodes fails? 

A. ONTAP only 

B. load balancer 

C. Fabric Pool 

D. iSCSI multipath I/O on the client 

Correct Answer: B 

 

QUESTION 2

Your log files are stored in Amazon S3 and you want to keep a copy In Azure Blob storage. In this scenario, which tool
do you use for data replication? 

A. NetApp Cloud Sync service 

B. NetApp Cloud Backup service 

C. Azure Data Box 

D. AWS Snowball 

Correct Answer: A 

 

QUESTION 3

You must consolidate your branch office Microsoft Windows file servers Into the cloud with the objective to centralize ail
Microsoft Windows file shares (SMB) into your Active Directory domain. After analyzing your unstructured data set, you
find that 10% of the data Is active and 90% of your data is archive data. You deploy NetApp Cloud Volumes ONTAP in
Microsoft Azure and enable data tiering to tier off data to object storage, leaving all the defaults for the capacity tier. 

In this scenario, by default, which storage class is used for your archive data? 

A. nearline storage class 

B. cool storage tier 

C. hot tier 

D. coldline storage class 

Correct Answer: B 
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QUESTION 4

Exhibit. 

You are implementing storage-as-a-service using the service levels that are shown in the exhibit. In your implementation
plan, which metric is used for the SLA and SLO? 

A. throughput 

B. I/O density 

C. latency 

D. RAID level 

Correct Answer: B 

 

QUESTION 5

A customer wants to migrate workloads to Cloud Volumes ONTAP. 

In this scenario, which two test cases would you design in your proof of concept to demonstrate the solution? (Choose
two.) 

A. test HA resiliency 

B. test FCoE 

C. test storage efficiencies 

D. test RAID DP 

Correct Answer: BC 
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